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Note : There are three sections and all are compulsory.
SECTION - A
1.  Fill in the blanks with appropriate word(s) given
in brackets : 5x1=5
(@) Ina frequency distribution graph, value of
variable is shown on __________
(x - axis/y - axis)
(b) Primary data are called data.
(first hand / second hand)
(c) A setof numerical or quantitative statement
of facts is known as statistics.
(analytical / descriptive)
(d) can be determined with the help
of a histogram. ( Median /Mode)
() The word skewness is used to denote the
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extentof .
(symmetry / asymmetry)
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2. State whether the statements given below are
true or false : 5x1=5
(@) A discrete variable is represented by fixed

values generally integers.

(b) When figures are approximated to the
nearest whole number, they give rise to
cumulative errors.

(¢) A frequency distribution with one variable
is called univariate frequency distribution.

(d)  The sum of deviations of the individual items
from the arithmetic mean is never equal to
Zero.

(¢)  Mean Deviation about median is the least.
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SECTION - B

Attempt any two from the following :

3. (a)

(b)

4. ()

(b)

5 (a)

T
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8+7=15

From the following observations, prepare a
frequency distribution table starting with
5-10 (exclusive method).
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Distinguish between ‘less than’ and ‘more

than’ ogives.

Find the value of median from the

-

following data : 10+5=15
Marks, lessthan:| 5 {10 11520 |25 130135
No.ofstudents: | 6 |18 | 35|65 |80 | 95 [100

The mean of a set of 75 observations, was
calculated as 80.4. It was later discovered
that an item of value 96 was wrongly taken
as 26. Determine the correct mean.

Two factories are engaged in the same

industry. The average weekly wages
(in Rs.) and the standard deviations are as

follows :

Factory | Average|Standard Deviation
A 34.5 5.0
B 28.5 4.5

Find out which factory has greater
variability ?
Calculate Bowley’s co-efficient of skewness,
given the following :

Qq = 60, Median = 80, Q; = 9.

8+7=15
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SECTION - C
6.  Distinguish between any two of the following :
(a)  Primary and Secondary Data 5x2=10

(b)  Univariate and bivariate frequency
distribution

(¢)  Bar Diagram and Rectangle

(d) Sampling and Non-Sampling Errors.
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